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TEST TOTAL _______/50 points

PART 1
Tree Identification and Forest Products (10 points)
1a.
Given the tree samples on the table, write in the correct species of trees or shrubs using both common and scientific/Latin name.  {9 points}
	
	Common Name (1 point each)
	Scientific Name (.5 point each)

	i.)
	Douglas-fir
	Pseudotsuga menziesii

	ii.)
	(coast) redwood
	Sequoia sempervirens

	iii.)
	Sitka spruce
	Picea sitchensis

	iv.)
	bigleaf maple
	Acer macrophyllum

	v.)
	western hemlock
	Tsuga heterophylla

	vi.)
	red alder
	Alnus rubra


1b.
Oregon has consistently led the nation in the production of both softwood lumber and plywood panels.  What Oregon softwood species is used for most lumber and plywood products? {1point}






_____Douglas-fir_____________
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PART 2
The Forest Practices Act and Protection of Natural Resources
(10 points)

Answer the following questions with respect to the Oregon Forest Practice Rules. Circle 
the correct answer or fill in the blank {10 points, 1 point for each answer}
2-1)
The Oregon Forest Practice Act was first enacted in?


(a)
1961


(b)
1962


(c)
1971

(d)
1980
2-2)
The Forest Practices Act


(a)
Has had continuous changes since its adoption.

(b)
Has remained essentially unchanged since its adoption.


(c)
Has been completely re-written once.


(d)
Has been completely re-written twice.

2-3)
For a LARGE FISH bearing stream the RMA is always


(a)
70 feet.


(b)
100 feet.

(c)
50 feet.


(d)
One average tree length horizontal distance.

2-4)
When building a stream crossing structure (culvert or bridge) over any stream you must?


(a)
Make it able to pass the 50 year flood event.

(b)
Make it able to pass the 100 year flood event.


(c)
Make it able to pass the 25 year flood event.


(d)
Make it able to pass the largest flood event anticipated for the life of the crossing.

2-5)
When building a stream crossing structure over a FISH stream, you must?


(a)
Make it able to pass adult and juvenile fish both downstream and upstream.

(b)
Make it able to pass adult and juvenile fish downstream.


(c)
Make it able to pass adult and juvenile fish and salamanders both upstream and downstream.


(d)
Make it able to pass adult fish both downstream AND upstream.

2-6)
After you have clear-cut an area you must meet the following regeneration schedule (time starts at zero when you have completed your harvest)


(a)
Plant within one year and have a free to grow plantation within 6 years.


(b)
Plant within two years and have a free to grow plantation within 4 years.


(c)
Plant within one year and have a free to grow plantation within 4 years.


(d)
Plant within two years and have a free to grow plantation within 6 years.
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PART 2
The Forest Practices Act and Protection of Natural Resources

(10 points), Continued
2-7)
When planting a clear-cut that has some residual seedling, saplings, and poles left in it you can?


(a)
Count all of these residual trees no matter what species or size towards your required stocking level.


(b)
Count all of the conifer seedlings, saplings, and poles, AND count some of the hardwood stems towards the requirement.

(c)
Only count the conifer saplings and poles towards the requirement.


(d)
You can’t count any of the residual stocking; you must plant 200 new trees per acre.

2-8)
Who is responsible for reforestation after a harvest? ___Landowner______________
2-9)
In a Type 3 harvest unit (clear-cut) what is the maximum size limitation of acres? 

_____120_________acres
2-10)
Describe what a Type N stream is. 

______No fish or domestic water use__________________________________

_________________________________________________________________
_________________________________________________________________
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PART 3
Tree Measurements (10 points)

Directions: There are five trees marked with the letters A, B, C, D and E, and one downed log marked F. By using the tool and information specified below, answer the following questions.

3a.
Using the Woodland Stick, what is the Diameter (DBH) of Tree A?

___16.5-17.5___” (inches)
{1 point}
3b.
Using a Diameter or Loggers Tape, what is the Diameter (DBH) of Tree B?


___17.7-18.3___” (inches)
{1 point}
3c.
Using the Woodland Stick, what is the total height of Tree C given you are 100 
feet from the base of the tree?


___67-73_____’ (feet)
{2 points}
3d.
Using a Clinometer, what is the total height of Tree D given you are 100 feet away from the base of the tree?


____82-84____’ (feet)
{2 points}
3e.
Using the diameter (DBH) measurement from Tree B, and the volume table on the Woodland Stick, determine the board foot volume of Tree B, given that this tree has much taper.

____@18” = 221____b.f. (board feet)
{1 point}
3f.
A nesting box was placed in Tree E.  The height of this box was required to be 1-foot off the ground for every inch of DBH (i.e. 10” DBH = 10’ from ground).  Is the box placed correctly? If you answer no, how far up or down would you move the nesting box in feet?


____@11’ off ground & 18” DBH move up 7-8’_________________ {1 point}
3g. 
Using the Woodland Stick determine the volume of Log F in Scribner board feet.

__8” small end & 8’ log = 10_____b.f. (board feet)
{2 points}
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PART 4
Forest Succession and Growth (10 points)
4a.
Trees and forests have a dynamic life cycle.  Describe each stage of a Douglas-fir forest based on the image provided below.  Write your answers next to each of the six pictures. {6 points, 1 point for each answer}

[image: image1.png]
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PART 4
Forest Succession and Growth (10 points), Continued

4b.
Using the provided tree ‘cookie’ sample, answer the following questions. 
{4 points, 1 point for each answer}
1. Approximately how old was this tree? __22 y/o  (21-23, ok)____ {1 points}
2. From the tree cookie sample, were there any indicators that this tree was stressed?  Explain {1 point}
Yes at about age 13 (y/o) tree rings become closer together indicating competition
And/or
At about age 17 (y/o) it appears to have had some water stress
3. Describe a forest management activity and/or silvicultural technique that could have improved the health of this tree. {1 point}
Thinning and/or removing competition vegetation 
4. Looking at the first 10 years of growth, describe what the forest surrounding this tree looked like at 10 years of age. {1 points}
Open and free to grow
Limited to no competition
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PART 5
Forest Management and Fire Ecology (10 points)
5a.
Using the aerial photos provided, locate the following features or locations and place the corresponding letter in the blank. {3.5 points, .5 point each}
1. Log Truck Road



___J____

2. Stream




___H____

3. Lake




___E____

4. Conifer Forest



_ G or J​_

5. Broadleaf Forest



___A____

6. Young Forest (<10 years old)

___I____

7. Envirothon Forestry Station

___B____

5b.
Controlled burning can be a valuable management tool, but forest landowners and operators must follow some important steps to control smoke and the risk of fire escape.  Answer the following questions with respect to prescribed burning. 

{6.5 points}
1. What is a prescribed burn? {1 point}
A prescribed burn is a controlled fire that consumes tree harvest slash, unwanted vegetation or other unwanted wildland fuels.
2. List two options (or prescribed burning methods) for treating excess fuels and unwanted vegetation by burning. {2 points}
Piles at the road side or log landing
Jackpot or windrow piles in the harvest unit

Broadcast burning of slash in the harvest unit

Spot-burning of un-piles slash concentration

Under-burning under a well-spaced tree canopy
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PART 5
Forest Management and Fire Ecology (10 points), Continued
3. List two PROs and two CONs of burning harvest slash. {2 points, .5 points each}
PROs:

1) Reduce fuel load, use on steep slopes, reduce habitat for pest animals, reduced seedling completion, create planning spots, release some nutrients and improve soil fertility
2)
CONs:

1) Risky, timing, smoke, costly preparation may be required, extra paperwork
2)
4. Fill in the three sides to the Fire Triangle. {1.5 points, .5 points each}
[image: image2.jpg]
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Regeneration, germinate





Competition, mature, stem exclusion, 


uneven-age





Mortality, late succession, disturbance





Pole, middle-aged





Sapling, reprod





Seedling, young forest





Heat





Oxygen





Fuel
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